Combined Graduate Level Examination 2020 Tier-I

[Exam Date 16/08/2021
Exam Time 12:00 PM - 1:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 73 ey g it FIet Hon @ I veR waEfta 3, i veR gudt wwem, ued sen
3R B} ¥, uiadt wen & wafta 31

15:135::16:7::18:189
Ans X 1.131

X 2. 141
<7 3.152

x 4.121

Question ID : 81616112921
Status : Not Answered
Chosen Option : --

Q.2 Select the Venn diagram that best illustrates the relationship among the following classes.

Whisk, Utensil, Sickle
Ans

Question ID : 81616112933
Status : Answered
Chosen Option : 4




Q.3 fau e fameul & ¥ 95 qui-uyg g4 o Fafafed e § yaig (7) & RIME R s

GCB, JHE, MMH, PRK, ?
Ans X 1.RVM

< 2. SXM
K 3.TXO
«7 4. SWN

Question ID : 81616112505
Status : Answered
Chosen Option : 4

Q4 & § sl & =1 B FEE A AT (A B AMEA AL HET 8)

ZA
7

Ans x 1. 5
X216

Question ID : 81616112221
Status : Answered
Chosen Option : 1

Q.5 ot fafRry FeuTdr § 'ALPINE’ ®1 '171° & U H 3R ‘SPRING’ Fi ‘83’ &b U § Heas
forar simar 81 Y St uTen & ‘CAPITAL %1 $9 Feas far smem?

Ans X 1.124

x2.93

<7 3.186
X 4.62

Question ID : 81616112209
Status : Answered
Chosen Option : 3




Q.6 fiu T fawedl § | 9% e A ol Fafafed Joar § uyig (7) & I W enwit?
5,13, 22, 34, 51, 75, 108, 152, ?
Ans X 1.203
< 2.230
% 3.290
7 4.209

Question ID : 81616113122
Status : Answered
Chosen Option : 4

Q7 fr w1v Repedt # & 97 Hghe 9o S Fretored Y@ # TARET (?) F TH R AN

= =
(g —O | O O\ Oo— ?
= be—
Ans
| o
—
X 2. \Q
—
o &
4 | é)
=

Question ID : 81616113129
Status : Answered
Chosen Option : 4




Q8 %ﬁqwﬁﬁmmawaﬁsﬁvﬁﬁmgﬁﬁumm%mwanm
?

61114
837
62 47 89

Ans X 1.6
* 2.15
7534
7 4.5

Question ID : 81616112217
Status : Answered
Chosen Option : 4

Q.9 ﬁqmﬂq%aﬁmﬁmqqﬁwamﬁsﬁ?agwaﬁﬁwﬁmﬁﬁ(?)%www
?

22327
18245
32407

Ans 2 1.12
2.8
¥ 3.4
% 4.10

Question ID : 81616112923
Status : Answered
Chosen Option : 2

Q.10 fiar &} TdaT Mg ITF g T A 9 T 81 IR a6t & q1q, fUar #Y oy, I79d BT Y
ﬁmﬂﬁwﬂlﬁ@gm@%ﬁﬁmﬁmmme%,aﬁmﬁ
gdwE 3myg foraei 82

Ans X 142799
K 2.38T¢
<7 3.36 T4
® 43299

Question ID : 81616112522
Status : Answered
Chosen Option : 3

Q.11 Qg 77T fapeul § 9 98 3R g4 il Fufafed @ d uufag (2) & WM W Smem?
B,E,G,J,L,?
Ans X 1.Q
K 2P
2K 3N
4.0

Question ID : 81616112513
Status : Answered
Chosen Option : 4




Q12 gfy gdor @1 & ¢ iy F AR’ T @M G § O Ay T FEr gdur giafie wafea Hifew

Ans

A

Question ID : 81616112527
Status : Answered
Chosen Option : 1




Ans

OB 7 e 9= e & T iy WieAted § (AT FOIEET A 2

Question ID : 81616112526
Status : Answered
Chosen Option : 2

Q.14 2 IR qui-awg fow 7 § o & & e e # v w9 € ofk 379 @ ve et
?1 39 3R qui-TE BT TUT B
Ans o 1. FJQL
% 2. EMNK
% 3.IDWG

%< 4.BTGN

Question ID : 81616113113
Status : Answered
Chosen Option : 3




Q.15 ?ﬁ?ﬁmgﬁﬁﬁqu%?wwﬁm%mwﬁ%mmﬁ
I

1. Umbilical
2. Urgent

3. Unaltered
4. Umbrella
5. Unanimous

Ans X 1.4,1,5,3,2
7 2.1,4,3,5,2
% 3.4,1,3,5,2
X 4.1,4,2,3,5

Question ID : 81616113112
Status : Answered
Chosen Option : 2

Q.16 &t fafRIY FeuTeT & "MORBID' 1 'THGMID’ ¥ =4 H forar Srar g1 Y I v #
‘OBTAIN’ T &9 ferar smem?

Ans X 1.GFOJDS
75 2. JOFGSD
* 3. JGOFDS
«7 4. GJFOSD

Question ID : 81616112915
Status : Answered
Chosen Option : 3

Q.17 i IR Teg feT T € ford @ diF fordt T # v I € 8l 390 A U9 SR 81 39
SR TTeg BT TG B |
Ans X 1. FRerE
«F 2. TR
X 3. RS
X 4. 9T

Question ID : 81616112205
Status : Answered
Chosen Option : 2




Q.18 T T Hy=l 3R FAswul 31 e A 9| Fu= A & TS SIFBR B T T g, WA
g =T w0 A 91 @) & g wdia g, Faffa 59 o fraed g e sy &1
AMfH® TY F SR HA 81

DY

T $ugev, dvery g1

T e, T-g18a 71

®Is Wt I7-g134, Fefluca T8 81
Bz N PR, TEfE TEI B

foreep:

. $© U9-g134, duery Tl §1

I FE +ft Selived, e T8 81

. #Ys 1t grefew®, duery =g 71

Iv. wft 99-g154, Folived g &1
Ans X 1. %Had (BT 111 SRR BT §

K 2. Pad spY 11 TR AT R
«7 3. Had (HY IV STURUT Bl §
K 4. Fad TR | TR HRAT T

Question ID : 81616112919
Status : Answered
Chosen Option : 2

Q.19 T ffy | Tord 1 Ufkeg HRard gT 3o/ A Fgl, "ag WX fire1 Y 9g &1 gwatar @@ 17
SIS T IS | FIT WY 72

Ans ¥ 1.4TS
£ 2.4
#< 3.alar
< 4. 1l U, a1 ==

Question ID : 81616112514
Status : Answered
Chosen Option : 4

Q.20 wgmmmﬁmmm@%wwaﬁﬁwé,a}mww-m%was
AA I

TSTHTE : HETeHT TTeh
Ans X 1. dR yfty : SRy Tiveh
7 2. Ta91g 9Te : o1 §8IgR Wkal
2 3. i a7 ; Xrofta e
X 4. e R : o e

Question ID : 81616112510
Status : Answered
Chosen Option : 2




Q21 & gl & F9TST & TF gaS & Fiee F HA IR 5 T3 §U FIS B FEA F Al i @
g1 3 FETS F Tlol | Tg HT THm?

B
[¢]
TN 3\

Ans

% 1.

O

Question ID : 81616112528
Status : Answered
Chosen Option : 2

Q.22 ?ﬁmﬁﬁmwﬁwwm%ﬁmwmwmwﬁﬁm
|

@T:Ej@'::lﬂq:?
Ans X 1.3d8

o 2. g

PaSASER)

K 4T

Question ID : 81616113115
Status : Answered
Chosen Option : 2




Q.23 Hi IR TE-g feu e § o | i i deu & e 9w € ofik 3 @ U o
T 3 SRATd TBAT-GIH BT I Y|
Ans X 1.169:55
% 2.289:70
< 3.256: 61

<7 4.324: 64

Question ID : 81616112215
Status : Answered
Chosen Option : 3

Q.24 oy gl @1 a8 W g T o it FU A * gl & ®IM R @ A W
THftHRuT Hferd gt Se|
6*10*55*162*9 =23

Ans X 1.x, & -+

K205+, %, -
N3, - %
ﬁf}4‘x,—,+,+

Question ID : 81616112218
Status : Answered
Chosen Option : 4

Q25 o @ arr & &Y srowr-arowT RRufeRt goits 7 ¥ Rk oF Gew 9 AT, IN ‘SO, 'WE!, ‘GO
Al TO' sifera fFar T #1 9F oeg g S Asg ‘TO' ATl Welsh & fA9did B W 3meem|

10 WE

AnS 71 GO
X2 50
K3 AT
K4 IN

Question ID : 81616112222
Status : Answered
Chosen Option : 2

Section : General Awareness




Q.1 e 3150 & Wigaiesd (PonuYoksi) T, TeTaR B TRE S TP ATe-7 BT SUTNT YeTial
FR1 6T S aret SrIgTie T8 & IR fopam wimar 412

Ans X 1. T YSY
o 2. STPUTEd YT
* 3. TR U™
7< 4. TowT=re TemT

Question ID : 81616112228
Status : Answered
Chosen Option : 2

Q.2 yfy oy fEd Raw wa w=mar Sirar 82
Ans ¥ 1,140

«F 2. 14 RIdeR

% 3.2 3R

K 4.6 30

Question ID : 81616112934
Status : Answered
Chosen Option : 2

Q.3 g A A fHua <Mmewel & AR § el B HgTal $T Iead Hd §¢ IR THT

A gD forat 4t

Ans X 1. Hgwq ARy

o 2. AGH STRI0

#< 3. 3 asd

< 4. TA9E

Question ID : 81616112949
Status : Not Answered
Chosen Option : --

Q.4 is a practice of establishing and managing individual trees generally for

amenity purposes.
Ans X 1. Floriculture

< 2. Silviculture
#5 3. Viniculture
«# 4. Arboriculture

Question ID : 81616113147
Status : Answered
Chosen Option : 1




Q5 w.manwupuﬁm@uwaﬁvw%%ﬁ:amw(cmiﬁww

gmﬁwmﬁmﬁ,wmﬁwﬁam
?

Ans X 1_Trgcr|%[
«F 2. AIBIHT e
#< 3. Juyufd
X 4. TYTEA

TYE (IPG) BT U AL DI gral

Question ID : 81616112549
Status : Answered
Chosen Option : 1

Q.6 W UISH 3R el & 3aATaT gR Wi § dgal g5 Bival B "/t 81
Ans X 1. CIRIRA (RIS Ha)

7< 2. Ao GErwpifd

X 3. 3Upifa

<7 4. T HaTEpifd

Question ID : 81616112532
Status : Answered
Chosen Option : 1

Q.7 , Sitg fag @Yt 2a @ R waw () 1 3reage far s g1
Ans .z 1. HRISIGTSI

X 2. aRRIErST

2 3. Afpars

< 4. Hardre

Question ID : 81616112938
Status : Answered
Chosen Option : 1

Q.8 IeRIPI gTast HETIY (FIH) BT GBI Fgl Srafed 872
Ans X 1. 3fiefer

X 2. 9u|

« 3. faesRds

4 e

Question ID : 81616113156
Status : Answered
Chosen Option : 3




Q.9 7y # | B WRA S UYH STRTPUTT &2
Ans ¥ 1. TUTE W@9Y UI6H

& 2. AU AP
2 3. WERY dape TRk
X 4. SR g

Question ID : 81616112245
Status : Answered
Chosen Option : 2

Q.10 Which of the following is also called ‘green algae’?
Ans X 1. Rhodophyceae

«* 2. Chlorophyceae
#5 3. Porphyridium
75 4. Phaeophyceae

Question ID : 81616112233
Status : Answered
Chosen Option : 4

Q.11 wRad 2021 ®, WRH & 8T HATqT A P 83 o TSP faU (LCA) Awiw & FHmtor
¥ forg o1 feam

Ans X 1. & STTY SR faHT W1a
X 2. YRd Saag e fafics
& 3. Rgx™ TRl fofics
¥ 4. YR SEATHE fafics

Question ID : 81616113160
Status : Answered
Chosen Option : 3

Q.12 Tiqy g BT THRIT TH g4 oT, Fr % AT | ST AT ATl
Ans X 1.%qH

X 2. A At

o7 3. f

X 4. FR I

Question ID : 81616112240
Status : Answered
Chosen Option : 3




Q13 3Y 12 WE A AC@ B T AT WhHUT T gl el 81
Ans X 1. pb-sl®d

X 2. c-id

X 3. a-dl®

o 4. d-lh

Question ID : 81616112538
Status : Answered
Chosen Option : 4

Q.14 {5 § q BH-AT I TS THE BT e T 872
Ans X 1.4Rd

< 2. sifegfera

3. BS1

K 4. SO

Question ID : 81616112553
Status : Answered
Chosen Option : 3

Q.15 In which of the following years was the origin and enactment of the Indian Age of
Consent Act passed?

Ans X 1.1834
7 2. 1891
% 3. 1889
%K 4.1901

Question ID : 81616112946
Status : Answered
Chosen Option : 3

Q.16 IE T=aeiig AHIRTY fbd HRAIT Ieg A fRUa 82
Ans ¥ 1. Uf3H S

o 2. ITH

K 3. effs=m

X 4. PrAlcH

Question ID : 81616112236
Status : Not Answered
Chosen Option ; ==




Q.17 Fgfafea & § w9 w1 feh ara @) 82
Ans ¥ 1. fuqsiiax @y

K 2. 98 HId, Sl SUHNT B & o geit B 7w Suersy Siel 8, 39! WRaTe ft faen s o
3 T YT Rl § IR DIF el HaT g

7 3. 98 T19, o feft Uas <afd a1 eR & @il gRT SUHRT 3 ST g
XK 4. 0T H IR vfagdl SR TR egasg

Question ID : 81616112230
Status : Answered
Chosen Option : 2

Q.18 2021 # 75 & I 5w 331 & 7d v &) uet fayuor RReR & wafea far e
Ans X 1. SR

X 2. Sficiar

<7 3. 9T

¥ 4.9U@

Question ID : 81616113152
Status : Answered
Chosen Option : 4

Q.19 3rad IR § J1d IS awl A A Faa = argHsea uRfRfaay # At
FUA g El
Ans X 1.12
% 2.13
7 3.1

% 4.10

Question ID : 81616112941
Status : Not Answered
Chosen Option : --

Q.20 SfifS=T & I WX @ G IR ST Hae Tt F W F 7 7 T AH RT8?
Ans X 1. gguREr

X 2. FreRHcH

X 3.0

7 4. SRl

Question ID : 81616112540
Status : Answered
Chosen Option : 1




Q.21 Sast 2021 ® fa= @i &1 uaT faywor @ gwr=e fear e
Ans  # 1.7
XK 2.4
% 3.29
K 4.10

Question ID : 81616113158
Status : Answered
Chosen Option : 1

Q.22 g A A I FeWeR 3% ATSIN (Interpreter of Maladies) TTHEG [P B! AFJPT 82
Ans 7 1. g TGS

2 2. 3FIATARR

X 3. g

¥ 4. IrBYfARAT

Question ID : 81616112547
Status : Answered

Chosen Option : 3

Q.23 3TRRMA U 2020 # AieT The B ST $19 &2
Ans X 1. TRETS o

< 2. Aifthar B

X 3. Ry gIem

< 4.9 faferasm

Question ID : 81616112955
Status : Answered

Chosen Option : 2

Q.24 — T 3+ fayE iR o1 giF-T-Tge i & FU ¥ Ireiy & 99g A safid
I

Ans 7 1. Sogdia
7 2. 3fa-3&-dIF Faereit
K 3. gAH
K 4. Pge-3c-cH Uad

Question ID : 81616112544
Status : Answered
Chosen Option : 4




Q.25 Which of the following is one of the metals used in LED semiconductor technology?
Ans X 1.Zinc

75 2. Copper
< 3. Gallium

75 4. lron

Question ID : 81616113141
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1 A sk B, el ad & warer: 15 Rt 3k 10 R # @ < T §1 7 vF WY FE A YT A &
AT 4 R a1, B w1 O a1 §1 B A, 7T FHR C % WA R N gv, A9 w3 R A
T AT 1 ARy C 3ol FIY FAT ¢, o I¢ U F  40% ST H Bhed &l F T FT Tehell &2
Ans ?<1_ -ﬁo‘
. 1
K2 gt
2
&3 9
<4 8

Question ID : 81616112260
Status : Answered
Chosen Option : 2

a 32+ (324 {E(52+ 142)}] w1 A= AT F
Ans g, 5

s2 9

X3 7

x4 8

Question ID : 81616113162
Status : Answered
Chosen Option : 2




T & e, 2020 & Bt AR 3 gk R S

Ans

F AR FEIRREAT IR Ted 37T (X H) R 37 = %

Felt @Y galieh &
wreT | g | WRes | aeor
A 35,000 | 38,500 | 29,000 | 42,000
Ry | 6,000 | 6,300 | 5000 | 7,500
EICe:] 1,000 1,100 1,000 1,240
HeRerRH | 1,800 1,950 1,400 1,500

TT0T @ diew, AHa AR Tfew g & 3 dow ¥ e
gfderT &7 §7

<145
7 2. 38
<3 48
<4 409

Question ID : 81616112579
Status : Answered
Chosen Option : 2




Q.4 = 9K 7% 2014 & 2018 o 5 a¥ & SN A 3K B Trumet & R TeTHA ¥ T Jmifed

SIS A /T F AT B
400 360 375
350 325
280 30
300
250 20
250 225 225
200
% 160 = WFAA
A= n IRFEB
100
50
[
2014 2015 2016 2017 2018
af

2015 3iix 2017 # Feu= B & awAiha ol A For FEar AR 2014 3R 2016 7 Fwue A F i
BT B o TEAT F AT A F

Ans X111 - 91

<291 : 111
3. 137 : 92
K492 : 137

Question ID : 81616113284
Status : Answered
Chosen Option : 3

Q5 fFa ug =€ A, B, C, D, E 3R F o @wa-fiee o9t & ol Tacmmery & em X & 300 eyt &
gfeRid IR AR A PRRT = B

19%

& I aiferdr A, B, C, D, E 3R F o Bea-Besr a9if & Falr X & ol &I G&r & geidr 2

T A B C D E F
TSH FT | 36 26 34 |28 X 20
TE=aT

afE @ E #, o5 FEam AT asfral fr Hear & s 3 1 4§, a9 E F et S wEw i
T C & Fsfil & gear % @9 F Fgea A F

Ans 118 : 23

K224 .23
X323 :18
<423 24

Question ID : 81616113286
Status : Not Answered
Chosen Option : --




Q.6 ez, e oo Giear § AR 3E T, 22, B AR T10 Fewer F BRr 10:5: 20 1 F Igad A
foer afE o 72 Rwr 4, & e & & F oo J TN (2 H) 7T B

Ans

1. 160
<2 72
<3 100
<4 90

Question ID : 81616112965
Status : Answered
Chosen Option : 4

AT FRr & 2 S, 2016 ¥ 2020 % 9] U@ # ST AT

Ans

95T 1 = A ¢
¥ | wErE | EHEEE | O | i
2016 | 1800 2500 | 1800 2000
2017 | 2500 2300 | 1850 1800
2018 | 2300 2400 | 1840 1760
2019 | 2440 1950 | 1900 1600
2020 | 2250 2100 | 2000 1750

T 7 o g a¥ § g= 39« Jg oene v 97

X1 2016
X2 2020
&3 2017
x4 2018

Question ID : 81616112577
Status : Answered
Chosen Option : 3




Q.8 oy Fi-3iF aTer TEA 7p5964q28, 88 W WIT: Ty &, & q F IWFAwW AA & R, (p2—q) F
A AT FY, el p AR q Tpfaw T E

Ans X 1. 81
x29
3 72
X4 0

Question ID : 81616112252
Status : Answered
Chosen Option : 4

Q.9 fy frelr Peger 7 T FOT 74° , O 35T & HIARE FIUT F TAGRHASRHT F &I FT BT A B
Ans % 1. 530

2 127°

X3 16°

~ 4 106°

Question ID : 81616113177
Status : Answered
Chosen Option : 4

Q.10 Ffr (16v2x® +81v3y®) + (2v2x +3v3y) = Ax* + By? + Cxy &, aV2A — 3B — 26 C & A AT &I
Ans 1. 137

v2 7

<3 25

<4 79

Question ID : 81616112971
Status : Not Answered
Chosen Option : --

Q.11 3fE 2sin(3x — 15)° = 1,0° < (3x—15) < 90°% , & cos? (2x + 15)° + cot? (x + 15)° & AT AT &Y

Ans
&1L
X2 -7
2
x3 2
2
<4

Question ID : 81616112270
Status : Not Answered
Chosen Option : -




Q12 A B3k Cc d=

, forel wAeT aFg W 34,820 W Tew 3 R 1 A, B 3R C el
FEG3HT FF FAHA: 20% AR 20%; 25% 3HR 15% T 30% 3T 10%, H FAPE T W F=d & FiF &
gFeR HOwan ge &ar § 3k fraar € #) &ar 32

« 1. cosecOsect
< 2. ginBcosd
« 3. sin®*Bcost

< 4. cosec?Bsec?d

Ans 1. AL 1,735.20
X2 B, 1,800
3. C, 1,783.40
<4 C 1,780
Question ID : 81616112962
Status : Not Answered
Chosen Option : --
Q.13 39 2 E .
cot - mﬂ, + 2sinB cosB & FET %I
cosecsd secsd
Ans

Question ID : 81616112373
Status : Answered
Chosen Option : 4

Ans

X 1130
X2 105
X3 125
4 115

Q.14 AB ws 37 & T =uw &1 g C i D =9 AB ¥ RdE weit W 3w vew TRm § &
2ACD =25°%| E, &g =19 BD X Toera w& f&g §14BED & A9 (3 &) A &

Question ID : 81616112267
Status : Answered
Chosen Option : 4

Ans

Q15 grem, 310,000 & Fegey T 3R 35,000 F FeX o Wl §1 € FoUEX TaT FY 8% oM W A=A

T R AT W 10% o7 9Iod o & o, 3¢ WeX &ael 1 fhaar wiaera ot | a=ar afge?

1. 14%
K2 10%
<3 18%
K4 12%

Question ID : 81616113166
Status : Answered
Chosen Option : 1




Q.16 TreeTe, 3RE 3R ST g o FI8 AT o857 A AGE F T G T A IRAG F FA AT H
35% dre ey | AT H Yodes 35 dic # ¥ 14 dic e O {Sar @ g9 ®A & I amer
AT Ferel #4950 ST HEF e 1 FAA gU TN S A Fer FEA A R

Ans X'1. 38000
+ 2. 33000
<3 13378

~ 4. 99000

Question ID : 81616112256
Status : Answered
Chosen Option : 4

Q17 g & v W AF F T A §, EF 3R F W 8.4 m R 5wE FE 1.75 m ¥ 59 & A
$ATH F T ST | AT Hefard F ATEA (m? H) A B (1= Z FrwErRy)
Ans 1. 60.06
<2 60.6
<3 1155
<4 115.05

Question ID : 81616112565
Status : Not Answered
Chosen Option : --

Q.18 =% TfRr wruwor e # AR & @, 3 a¥ &g 714,880 3T 5 I¥ &g T16,800 @ AT ¥ 34T T
F T 10% a1 oo X W 4 a9 & 9Ioq WIRYT e (3 &) 9 &

Ans x1. 5184
<2 4740
<3 4860
v 4 4800

Question ID : 81616112259
Status : Not Answered
Chosen Option : --




Q19 A ABCH AB =20 cm,BC =21 cm 3T AC = 29 cm &1 cot C + cosecC — 2tanA & AT 71 HI

Ans T
Sl —
20
i e}
~N2—
. 2
o 3. —
5,
“ o
K4 =
20
Question ID : 81616113786
Status : Not Answered
Chosen Option : ==
Q.20

3 27 .
T 4x* — 37x2+9=0,x > Z & ar 8x% — Fﬁrmmﬁi

Ans 1. 218
<2 =35
<3 35
<4 =215

Question ID : 81616112265
Status : Not Answered
Chosen Option : --

Q21 o oemd, go 8 o R A ¥ fwereh ¢ 3t et 12 &9 R B W g 81 O FR Gaw
8:30 a1 T2UA B ¥ Tawerch ¢ 3K TR A W 3 FHT GIAM § 9 ORI YA B W TGN g1 T
g ¥ frw wAw e §2

A X1 gEE 9 38 T
X2 gEg 10 : 22 =
Xs gEE 9 : 52 &=
v+ Gag 10 : 08 &=F

Question ID : 81616112968
Status : Answered
Chosen Option : 3




Q.22 fpger ABC #, g D, AB X fiwrd § @ar E 3R F, BC W 3 Y& fEwd § % DF, AC & §AMI §
3k DE, AF % Ta=a} §1 I BE = 4 cm 3K CF = 3 cm &, & EF & da (cm &) & d &%

Ans %1 5
K2 3
<315
w4 2

Question ID : 81616112572
Status : Not Answered
Chosen Option : --

Q23w e snveT FEAE & HET F1, FUH GH FH Tplae e & e § I wa H

Ans X1.8: 70

2 78
<3 1:7
<4 F 80

Question ID : 81616112557
Status : Not Answered
Chosen Option : --

O R a2 -1} sEa>0L @ @ + 22 & A T B

Ans 51 1g
*2 11
73 17
x4 15

Question ID : 81616113172
Status : Answered
Chosen Option : 2

Q25 vs e W aeT Mg A ¥, & T @Y AB 3R AC @it w1g €, St FAw: g B 3t C W
T & g1 AB 3R AC W g P 3t Q #aer 5w wor T € B PQ gea 1 Rig R @
FIAT E1 TE AB = 11 cm, AP = 7 cm AT AQ = 9 cm &, a@ PQ & &9 (cm &) AT &L

Ans 1. B
X2 5
X3 7
K48

Question ID : 81616112569
Status : Not Answered
Chosen Option : -

Section : English Comprehension




Q.1 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. There are many secondary reasons as well along with increasing levels of carbon.
B. The term is used to describe the unnatural rise in earth’s average temperature.

C. Increased carbon dioxide is the primary driver of global warming.

D. Global warming is the single biggest threat to life on earth today.

Ans X 1.ACBD
< 2. DABC
«7 3. DBCA
< 4. ABCD

Question ID : 81616113198
Status : Answered
Chosen Option : 2

Q.2 Select the option that expresses the given sentence in passive voice.
The postman had delayed the letter.

Ans < 1. The letter had been delayed by the postman.

7% 2. The postman had been delayed by the letter.

7% 3. The letter was delayed by the postman.

75 4. The letter had delayed the postman.

Question ID : 81616112279
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Much of the truth about the mysterious death of her pet was not revealed.
Ans X 1.were not revealed
75 2. were not being revealed
«* 3. No substitution

75 4. have not revealed

Question ID : 81616112585
Status : Answered
Chosen Option : 3

Q.4 Select the most appropriate meaning of the following idiom.
To the nines
Ans < 1. To perfection
7% 2. To be jealous
75 3. To be exalted
#5 4. To great depths

Question ID : 81616113002
Status : Answered
Chosen Option : 1




Q.5 Select the INCORRECTLY spelt word.

Ans

75 1. Perfectionist
75 2. Optimist

75 3. Fatalist

¥ 4. Pessymist

Question ID : 81616113209
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate synonym of the given word.

Ans

Chaos
#< 1. Fusion

«# 2. Confusion
#< 3. Dirt
75 4. Tension

Question ID : 81616112594
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option to fill in the blank.

Ans

The jungle was nearly
75 1. immobile

75 2. immortal
«# 3. impenetrable
75 4. immaterial

, so the progress was slow.

Question ID : 81616112605
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate ANTONYM of the given word.

Ans

Elated
#% 1. Excited

#< 2. Proud
< 3. Depressed
75 4. Thrilled

Question ID : 81616113202
Status : Answered
Chosen Option : 3




Q.9 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The supervisor / wanted to known / the pros and cons / of the issue.
Ans X 1. The supervisor

75 2. the pros and cons

75 3. of the issue

< 4. wanted to known

Question ID : 81616112984
Status : Answered
Chosen Option : 4

Q.10 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

“Would you liked / to have / some fries / along with your coffee, / sir?” / asked the
waiter.

Ans < 1. Would you liked
7% 2. along with your coffee
7% 3. asked the waiter

5 4. some fries

Question ID : 81616112278
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate option to fill in the blank.
| read some of properties for sale on the Internet before I called the agent.
Ans ¢ 1. descriptions
75 2. arguments

7% 3. monologues

7% 4. spaces

Question ID : 81616112301
Status : Answered
Chosen Option : 2

Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A large bedroom for a number of people in a school or institution.
Ans X 1. Hostel

75 2. Assembly
«* 3. Dormitory
#5 4. Creche

Question ID : 81616112297
Status : Answered
Chosen Option : 1




Q.13 Select the most appropriate synonym of the given word.
Rejuvenate

Ans < 1. Refresh

5 2. Reset

7% 3. Retell

7% 4. Retake

Question ID : 81616112595
Status : Answered
Chosen Option : 2

Q.14 Select the option that expresses the given sentence in indirect speech.
The teacher said, “Man is mortal.”

Ans < 1. The teacher said that man is mortal.

#% 2. The teacher said that man was mortal.

7% 3. The teacher said that men were mortal.

% 4. The teacher instructed that man was mortal.

Question ID : 81616112583
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate ANTONYM of the given word.
Harmony

Ans ¢ 1. Conflict

#< 2. Accord

7% 3. Concord

75 4. Amity

Question ID : 81616113001
Status : Answered

Chosen Option : 1

Q.16 Select the most appropriate meaning of the following idiom.
Apple of one's eye
Ans ¥ 1. Someone very precious or dear
7% 2. Someone who plays all sports
75 3. Someone who behaves courteously

75 4. Someone with great respect

Question ID : 81616113003
Status : Answered

Chosen Option : 1




Q.17 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Sholay is one in the most popular Hindi movies.

Ans X 1.is one in the more popular
«* 2. is one of the most popular
7% 3. No substitution

75 4.is in the most popular

Question ID : 81616112281
Status : Answered
Chosen Option : 2

Q.18 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. This awareness has motivated everyone to go for physical exercises.

B. These days people are more aware of their health.

C. In addition to physical exercises, some prefer taking health supplements too.
D. It is advisable, but one should consult a trainer/doctor before consuming health
supplements.

Ans X 1.DBCA
«7 2. BACD
% 3. ADBC
< 4.BADC

Question ID : 81616112997
Status : Answered
Chosen Option : 2

Q.19 Select the INCORRECTLY spelt word.
Ans X 1.Recluse

75 2. Profuse
«* 3. Luxuriaus

#5 4. Virtuous

Question ID : 81616113208
Status : Answered
Chosen Option : 3

Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

A group of people, typically with vehicles or animals, travelling together.
Ans ¥ 1.Gang

«# 2. Caravan
#5 3. Circus

75 4. Troop

Question ID : 81616112298
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1. maturity

< 2. development
7% 3. ripening
75 4. progress

Question ID : 81616113193
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1. external

75 2. needless
% 3. domestic

< 4. essential

Question ID : 81616113194
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1. improved

% 2. introduced
75 3. settled
75 4. related

Question ID : 81616113195
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1.urgency

75 2. charge
¥ 3. need

5 4. duty

Question ID : 81616113196
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans

75 1. meeting

75 2. met
7% 3. meets

«* 4. meet

Question ID : 81616113197

Status : Answered

Chosen Option : 4




